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235 _ 1 3 2% _ 1 2+ =t fawifsm @ ah] 5.

oy It GEm =R 2
(a) 34

(b) 90

() 127

(d) 129

10 #1 AYSaw Tds T R AN PEEA
(product) 29 x 28 x 27 x ... 2 x 1 &I fawfom
HET R ?

(a) 4
(b) 5
(¢) 6

4 7

65% &t 11 & fawfsg 0 W Svwa F=n &m 2

(a) -0
() b
€ 9

(d) 10

Ife Ffiw x® - bx + ¢ = 5% Hel P IJH 5 B,
at frefafea & @ #1596 2 2

(@) b%=4c+5
®b) 2=4b-5
(© b2+c2=5

d b%*-c2=5

(2-A)

150 @it i wF 9 #, 75 @ oW a9 E,
60 TN Il Td & 3R 50 ST ¥ o & | I
¥ 15 9 3R FH A A, A gu o
aren ig ft st = T8 ar @ | 3 o §
e SAfth $H-U-FH U UF Al 8, a9 HaA
g4 o At =afet ot Een foha R 2

(a) &0

(b) 40

(¢) 30

(d) 20

A, B, C, D 3 E T# =89 & Hd & |
32:3:4:5:6% gy § ¢St FEw +@
® | g, 3T GRI ST MY FEA H I
6:5:4:3:2% | AR Ffer I aren e faw

e o o St % AT R, @ R
Ted fess @y TH B 2

(a) C

(b) B3R DA

(¢) C 3R DI

(@) &t S @™ g

Frafofga gemst w faem Hifse .

1. 437

2. 1797

3. 1073

I9GH FEATSl # Tt Tt sy # 2
(a) had Th

(b) FHae A

() Gt &

@) =g ot T



1.  What is the largest number which divides both
2 Land 217
(a) 34
(b) 90
(ey. 127
(d) 129
2, What is the largest power of 10 that divides
the product 29 x 28 x 27 x ...2x1?
(a) 4
(b) 5
fc) 6
d 7
8.  What is the remainder when 65 is divided by
112
(@ 0
b) 5
) 9
(d 10
4.  If the roots of the equation x> -bx+c=5
differ by 5, then which one of the following is
correct ?
(@) bP=4c+5
) c*=4b-5
© b*+c?=5
@ b’-c?=5
JNBY-D-MTK

(3-A)

In a party of 150 persons, 75 persons take tea,
60 persons take coffee and 50 persons take
milk. 15 of them take both tea and coffee, but
no one taking milk takes tea. If each person in
the party takes at least one drink, then what
is the number of persons taking milk only ?

(a) 50
(b) 40
() 30
(d 20

A, B, C, D and E enter into a business. They
invest money in the ratio 2 : 3 :4: 5 : 6.
However, the time invested by them is in the
ratio 6 : 5: 4 : 3 : 2. If the profit distributed is
directly proportional to time and money
invested, then who receives the highest
amount of profit ?

(a C

(b) BothBand D

(¢) BothCandD

(d) All get equal profit

Consider the following numbers :

1. 437
2. 97
3. 1073

How many of the above numbers are prime ?

(a) Only one

(b)  Only two
(¢) All three
(d) None




A T Fd H B & ga # gt afd @ =W
AT 8 | 39 TATET B IH I &l C A o
¥ 1-5 A1 Tfa & & FqhaT & | T Tt frerew 3|
+ H 12 A § guw = g & | C ke

30 F1 HI e {1 § quf o aehar 2 2
(a) 36f&
(b) 45f&
(¢ 60T
@ 66fE

9. Tl 37| I Tk HEAT & Hehl & ATHA 122 |
afe 3 # Ed-Ecd fear SN, 9 G
I3NE ¢ AN | T&AT H 3ol & o HT Fal
TR ?
(@) 1
b 2
© 8
d 4

10. % el #, faufe G # s @ gmh
e # A6 W @ Th ARk H IR A
10 ¥H98 &4 & | ek, afe qHT termisat
e fem & w1 @ @ a1 3@ 20 FHUS W
& | veeh o it @ard 200 m ? 3R gEd
el B 150 m B | TEeA ol i T =
22
(a) 60 km/hr
(b) 56 km/hr
(¢) 54 km/hr
(d 52 km/hr

JNBY-D-MTK

11.

12,

13.

(4-A)

aﬁa,b,c,d,eaﬂif,

2a = 3b = 6¢c = 9d = 12e = 18f Sl HJE Fd s,
?ﬁ(a+b)/(c+d+e+f) EFI'H'HW%?
(a) 4/7
b 2
(¢ 5/2

d 9/2

I a, b, ¢ AR AATIH TS &, T THR
ﬁ?a+b+c=0%,?ﬁ€1ﬂ'$max2+bx+c=0
& A R ?

2,1+ (c/a)
15 a/c

() 1,c/a

(a)

(b)

@ 2,(c/a)-1

%o faghar g @l MU el # @ Wwg wfawa
A e F R T A I § | W S g
el 1 S A faghar # Fot 4% F A BAa
2 | 3z faskar =1 #1% +ft Fen T2 A& gan A
3R a8 3% I o9 gU kel B ged WA
A=A, a Igeh @ gfereraan forat Bt 2

(a) 8=%

WO =

(b) %

57
11

2
18 —%
(e) 11

(d) 39 | § BIE TE



8. A can do a certain work at twice the speed of
B. Further, B can do the same work at
1-5 times the speed of C. All of them together
can finish the work in 12 days. In how many
days can C alone finish the work ?
(a) 36 days
(b) 45 days
(¢) 60days
(d) 66days

9. The sum of digits of a 2-digit number is 12.
When the digits are reversed, the number
becomes greater by eighteen. What is the
difference between the digits in the number ?
(a) 1
(b)y 2
() 3
(d 4

10. The time taken by a train to cross a man
travelling in another train is 10 seconds, when
the other train is travelling in the opposite
direction. However, it takes 20 seconds, if both
the trains are travelling in the same direction.
The length of the first train is 200 m and that
of the second train is 150 m. What is the speed
of the first train ?
(a) 60 km/hr
(b) 56 km/hr
(¢) 54 km/hr
(d) 52km/hr

JNBY-D-MTK (5-

11,

12.

13.

A)

If a,b,c,d, e and f satisfy
2a = 3b = 6¢ = 9d = 12e = 18f, then what is the
valueof (a +b)/(c+d+e+?

(a) 4/7
(b) 2

(¢ 5/2
(@ 9/2

If a, b, ¢ are non-zero real numbers such that
a+b + c =0, then what are the roots of the

equation ax’ +bx+c¢ =07?

(@) 2,1+ (c/a)
() 1,alc
(¢0 1,c/a
d 2, (c/a)-1

Twelve percent of bananas bought by a fruit
vendor got lost during transportation. On
selling the remaining bananas, the vendor’s
overall profit turned out to be 4%. If the
vendor had not lost any bananas and had sold
them at the price of the remaining bananas,

what would have been his profit percentage ?

1
8—%
(a) 5
1
b —%
(b) 11
2
18— %
(c) 11
(d) None of the above



14. R (5 +342) (5-32) FT YAHS FYHA «

15.

®, 1 8 + 20T YATCHS YA T R 2

(a) 2+ 43

b) 3-42
(e) |
@ V7 +1

afe g fomm quis (1 & w91) H 9= 99
o & 8 ¥ fawfe fopan e, @t Swwer ==
B 2

(a) 3
b) 2
© 1
(d) I8 EvES TE 2 6 IvEed 1 & A |
16. ffafEa ot w fa=m Hifs
1. 3R n TF 9990 H&AT (natural number)
% 4w n(n? +2) W v el e
21
2. A m TH fawm QUi (odd integer) &, @
e m4+4ir;2+11 w
(integer) ® |
I FHUE A § BHE-AVE TE YE 2
(a) Had 1
(b) HadA 2
(© 13 22
(d T 1,782
JNBY-D-MTK

17. 38 fem ™1 8 % n-1, n 3 n+1 F

18.

19,

20.

(6-A)

5 fawfsa & #@, F&f n ™ W s
(positive integer) & | Fi=foiflga & @ =4
TER?

(a) %+ 1)H 5 fawa a2

(b) %-1)H 5famfea s 2

(¢) (n®+n)® 5 fawmfsm o=@ 2

(@) @%-n)H 5 fawfsa e

5 37! I 98 Tl 91 e S 2, a afe

18 3t 11 ¥ fawfoa e oo, & I9we
7= R ?

(a) 99981
(b) 99988
(e) 99997
(d) 99999

% A o931 §, AY BH T 20,0007 §
St 5oy ae e I # 3R BA ASI T 12,000
HAENM4adae e 8 | 3@ 9 3/ 5% H
2 W GIYRY SIS W gohal ST 918d & | 39
fraert # =9 feramn e 2m 2

(a) I R &

(b) B, T 6,000 Al 2

(¢) A, T 6,000 B am

(d) A, T 4,000 BHI &M

30 BET ATt YFEE A § i § offEa i 65 8
3R 35 B! 9 Y99 B # iU | 3iEa 37
708 | afe s § Ig g Smar & 6 I fi
e Ufaf® § 47 F W W nerdt | 74 fomar mn
2, A1 3F1 el % 3Ed 37 (TTT) w1 E 2
(a)
(b)
(e) 6811
(d

67-28
67-58

68-63



14.

15.

16.
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If  the square root  of
(5 + 342) (5 - 342) is o, then what is the

positive square root of 8 + 2o ?

positive

(a) 2+ 43
) 3-42
© JT=1
@ V7 +1

When every even power of every odd integer
(greater than 1) is divided by 8, what is the

remainder ?

(a) 3
(b) 2
(e 1
(d) The remainder is not necessarily 1.

Consider the following statements :

1. Ifnis a natural number, then the

2
w is also a natural

number
number.
2.  If mis an odd integer, then the number

m* +4m? +11 . :
T 1s an integer.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2
(d) Neither 1 nor 2

(¥

17.

18.

19,

20.

A)

It is given that 5 does not divide n — 1, n and
n + 1, where n is a positive integer. Which one
of the following is correct ?

(a) 5 divides (n®+ 1)

(b) 5 divides (n® - 1)

(¢) 5 divides (n® + n)

(d) 5 divides (n®—n)

What is the largest 5-digit number, which
leaves remainder 7, when divided by 18 as
well as by 11 ?

(a) 99981

(b) 99988

(c) 99997

(d) 99999

In a business dealing, A owes B ¥ 20,000
payable after 5 years, whereas B owes A
¥ 12,000 payable after 4 years. They want
to settle it now at the rate of 5% simple
interest. Who gives how much money in this
settlement ?

(a) Both are at par

(b) Bgives T 6,000 to A

(¢) Agives ¥ 6,000toB

(d) Agives T 4,000t0B

Average marks in Mathematics of Section A
comprising 30 students is 65 and that of
Section B comprising 35 students is 70. What
are the average marks (approximately) of both
the sections if it was detected later that an
entry of 47 marks was wrongly made as 74 ?
(a) 67-28

(b) 67-58

() 6811

(d) 6863



21.

22,

23.
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g o 3 g adfir x2 - 7x+1=0 %ﬁ"{ﬁg,
a oot+pt WU ETR?

(a) 2207
(b) 2247
(e) 2317

(d) 2337

360 & @t PrEst (¥F) ® wed A
frefefiga oAt w famm Hifs

1. TUFEST 6 e 24 2 |

2. |t UEE! ST IR 1170 |
I HYE H F HH-A/E e 2R 2
(a) a1

(b) HadA 2

(¢ 13 22m

d JT@1LAE2

XYXYXY St 6-3/ha d&mm & an #§ famm
H | I8 4TI WIST R

(a) Had 3IAR 79
(b) had 73R 138
(¢) 8,133 374

d 3,7,133R37¥

24,

25.

26.

27.

(8-A)

3% _93it 3% g HCF=IT 2 ?

) 8%-1

b 31-1

© 31-3

@ 3%-9

Mx= |44 a/d... B, AxFAA IR ?
(@) 2

(b) 4

© 8

d 16

#H'c'ﬁﬁ'ﬂlmaﬂtnm‘{?fﬁ@ﬂ%l(m+n)$!
=Aaq 7 1 8 5o % 33m + 22n, 121 @
I B ?
(a) 3
(b) 4
() b

(d) 10

3 AT F PEEA 2160 7 3R W HCF
12 | gfe 31 @Al & anl &1 ITHA 4896
2, ol SH SEESA T AT TR 2

(a) 24
(b) 36
(c) 48

(d 96



21. If o and B are the roots of the equation
2 - T% + 1= 0, then what is the value of
ot +p42
(a) 2207
(b) 2247
(e 2317
(d) 2337

22. Consider the following statements in respect
of all factors of 360 :

1.  The number of factors is 24.

2.  The sum of all factors is 1170.

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

23. Consider a 6-digit number of the form

XYXYXY. The number is divisible by :
(a) 3and7only
(b) 7 and 13 only
(¢) 3,13 and 37 only
(d) 3,7,13 and 37
JNBY-D-MTK (9-

M.

25.

27.

A)

What is the HCF of 3%° —9and 3% -9 ?

@ 3%-1

b 3'-1

) 8'1-3

@ '‘s¥ag

Ifx = 4"4W , then what is the value
ofx?

(a) 2

(b) 4

() 8

(d 16

Let m and n be natural numbers. What is
the minimum value of (m+n) such that
33m + 22n is divisible by 121 ?

(a) 3
(b) 4
() 5
(d 10

The product of two numbers is 2160 and their
HCF is 12. If the sum of the squares of the two
numbers is 4896, then what is the mean of the

two numbers ?

(a) 24
(b) 36
(e) 48
(d) 96



28. QR Y PH Y & 3Ty Aftk ® | RFig; S Y SR w ——
g P g 1 g R AR QH amy s A Sy
g 0T Y | R Rt s g e nteeers) §, S R

ﬁ3oa‘§ﬂm%|Paﬂ'{Qiﬁ3ﬂgm a+b+c+d=200 8 | 3R

Qs S=(-12+(-1P+(-1)°+ (-1 %, N SH
fopat dwnfaq o € 2

(a) 3599
(a)

(b) 38a¥ Ll

(¢) 3999 Ll

i ik (c) =
d =

29. R a, b IR ¢, Byw ABc H yurd ¥, 0
B e 32. wEM 977 - 14 WA}

(a) 379 AfHT 83 T
(b) 83% AT 378 &
(c) 373N 833MI &

(d TA37H, TH 83T

(a) SOTCHS B
(b) EFATCHS B
(¢) UK (non-negative) ?
(d) A (non-positive) &

33. Fmafafga Hy=i v fomm Hifde .
30. =R HfeAT (bells) & S www: 15 e, 25 fime,
35 e 3R 45 fiFe & 3taue § a9t & | afe
i ufeat 9 A M. | a5t &, 9t o 72 W 2. logygo 10 T afda w2 |
9 3R fopat 1w Ty w9 2

1. logyo 50 T i W& R |

e et # @ B wd ¥ 2
i (a) ad 1
e (b) ad 2
- (© 13 23
@ 3 @ TA1L,TR2

JNBY-D-MTK (10-A)



28.

29.

30.
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The age of Q exceeds the age of P by 3 years.
The age of R is twice the age of P and the age
of Q is twice the age of S. Further, the age
difference of R and S is 30 years. What is the
sum of the ages of P and Q ?

(a) 35 years

(b) 38 years
() 39 years

(d) 45 years

If a, b and ¢ are the sides of a triangle ABC,
then va + Vb — Ve is always :

(a) Negative
(b) Positive
(¢) Non-negative

(d) Non-positive

There are four bells which ring at an interval
of 15 minutes, 25 minutes, 35 minutes and
45 minutes respectively. If all of them ring at
9 A.M., how many more times will they ring
together in the next 72 hours ?

(&)= 0
b 1
(¢ 2

(d 3

31.

32.

(11-A)

Let a,b,c and d be four positive

integers such that a+b+c+d=200.
IfS = (-1 + (-1)® + (=1)° + (= 1)%, then what
is the number of possible values of S ?

(a) One
(b) Two
(¢) Three
(d) Four

The number 97°° — 14%° is divisible by :
(a) 37 but not 83
(b) 83 but not 37

(¢) Both 37 and 83

(d) Neither 37 nor 83

Consider the following statements :

1.  logyo 50 is a rational number.

2. logjqp 10 is an irrational number.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2



34.

35.

36.
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I3 17 ufgemd iR 24 79 ©h W H 5 7 §
U H FHd & AR 12 wfgend it 23 gov I
%M &l 6T § @ = gwa F, @ Fafafea #
¥ HH-ET d # 2

(a) 13 Wigemait i GaaT = 18 YT <1 g&wal
(b) 11 wfEeed I g&aT = 16 Geu1 hi 2ar
(c) 13 wfgenaii &I g&rar = 17 Jo61 hi g&r

(d) 11 "feenad & gaar = 15 To§1 i ggw

A1 99 A, B 3 C U% 919 U 3l HI 66 §
W HHA & | A C Hhell 39 Tl B 125 F
W Hhal 8 | Thl & W % fou, 5@ 98 @l
Bt B, @ I 99 = @y @ Ru 9@
2 tHe F 9, 99 C H §2 = oA Sam 2
IR TH A W § gu M o F | ¢ o
TR B ?
{a) - 1
(b) 2
(c) 4
@ 6

A, B 3R C U% HW I HAWM: x, 1-5x 3N 2x
fat & qu o wha € | IR I w Ty faeEw
HM H G FA &, A T2 HE U@ d e
foran s =nfew 2

(a) 2:3:4

(b) 6:4:3

() 3:2:1

d 4:3:2

37.

38.

39.

40.

(12-A)

ﬁn%%amﬁmﬁaﬂiﬁﬁm:
1. n’-n, 63 9STR |

2. n°-n 5UWSTR |

3. n°-5n’+4n, 1208 W § |
I9H HYH A A PHEE T E 2

(a) had 13K 2

(b) had 23R 3

(c) had 13 3

d 1,23R3

ITHA S =927 + 27° w1 ifaw FHE TR 2
(a) 3
(b) 6
© 17
d 9

V3 +1
i

oH &R 2

J3-1
v3+1

) ar xa—yaaﬂ

(a) 60

(b) 4543

(¢ 3043

(d 90

% §C U # 1@ A 1fd 15 knvhr B | 3R @
T1a grn Hit e § 42 km 3Ry 6 Rgda

fesn & 28 km w9 T # @F wdl g, qF W
Hrafgwn g2

(a) 25 km/hr
(b)
(¢) 4'5km/hr

(d) 6 km/hr

3 km/hr



34.
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If 17 women and 24 men can do a piece of
work in 5 days and 12 women and 23 men can
do it in 6 days, then which one of the following

is correct ?

(a) Efficiency of 13 women = Efficiency of

18 men

(b) Efficiency of 11 women = Efficiency of

16 men

(¢) Efficiency of 13 women = Efficiency of

17 men

(d) Efficiency of 11 women = Efficiency of

15 men

Three taps A, B and C together can fill a tank
in 6 hours. Tap C alone can fill the tank in
12 hours. To fill the tank, when it is empty, all
the three taps are started together. After
working t hours, tap C is closed and the tank
is filled in 8 more hours. What is t equal to ?

@ 1
(b) 2
(¢ 4
d 6

A, B and C can complete a work in x, 1-5x and
2x days respectively. If they complete the work

together, in what ratio should they be paid ?
(a) 2:3:4
(b) 6:4:3
¢ 38:2:1

(d) ~ 4:8:2

37.

Consider the following statements :

1. n’-n is divisible by 6.

2. 0’ —n is divisible by 5.

3. n’-5n°+4n is divisible by 120.

Which of the statements given above are

correct ?

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3

38. What is the last digit of the sum S = 9% 4 27"

39.

40.

(13-A)

(a) 3
(b) 6
(B
da 9
fx = V3+1 J__l,thenwhatis

and y = ——
J§—1 \@4-1

the value x° — y3 ?

(a) 60
(b) 4543
(¢ 3043
(d 90

The speed of a boat in still water is 15 km/hr.
If it can travel 42 km downstream and 28 km
upstream in the same time, then what is the

speed of the stream ?
(a) 25 km/hr

(b) 3 km/hr

(¢) 45 km/hr

(d) 6 km/hr



41,

JNBY-D-MTK

T 10,000 W 31 a9 & forw 209 Fi arffes @ &
eI € § TFT HE T Tehgly A 3R
YTV TS 1 L 941 8 ?

(a) T 842

(b) ¥ 756
(e) T 641

(d T 542

§g4S (polynomial) a(b — ¢)(x — b)(x — ¢) +
b(c-a)(x-c)(x—a) + cfa-b)(x—a)(x-b)
% Hel # fr=ferfig st w fa=m Hiftu .

1. x*ITOH 07 |

2. xH IS (a-b)(b—c)(c—a)? |
I HYE § § BH-AVE T B 2
(a) ad 1
(b) ad 2

(¢) 13K 23H

(d Fa 1,982

43. WE9E 1 - x - x" + x"*!' & wed A f=fafaa

45.

(14-A)

el W famm Hifw, s o ww vAgel den

(natural number) 2 :

1L TW1-2%+x° AU |
2. W1-x"ATAR |

I7d ol § A AR T B
(a) Fa9 1

@ @ 1L,T82

m%aﬁmrn:ﬁﬁs%q mx” + mx + 8x + 9 Ush
9o & B 2
s L
(b) 4,9
() 9,18

(d) 4,16

aﬁx:a+b+(—a_—bﬁ 3R

4a + 4b
y=a+h+ ab 2 A x—a)2—(y—b)?2 F
4 ath o

R ?

(a) a’

(b) b’

(c) ab

@ a?b?



41.
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What is the

interest and compound interest on ¥ 10,000

difference between simple

for two years at 20% per annum compounded
half-yearly ?

(a) T 842
(b) T 756
() T 641

(d T 542

Consider the following statements in respect
of the polynomial a(b — ¢)(x — b)(x — ¢) +
blc—a)(x-c¢)(x—a) + cla-b)(x—a)(x-b):

1. The coefficient of x° is 0.

2. The coefficient of xis (a—b) (b —c¢) (c — a).

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

43.

45.

(15-A)

Consider the following statements in respect

+1 .
, where n is

of the polynomial 1 - x — x" + x"
a natural number :

1. Itis divisible by 1 — 2x + x°.
2. Itis divisible by 1 —x".

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢)0 Both1land?2
(d) Neither 1 nor 2

For what values of m, is mx> + mx + 8x + 9

a perfect square ?

(a) 1,4

(b) 4,9

() 9,18

(d 4,16

Ifx=a+b+ % andy = ? + :‘%,

then what is the value of (x —a)% - (y— b)? 2

2

(a) a

(b b
() ab
@ a’b®



46. T=fafes w fF=m Hifvw . 48. AR tan® 0 + cot® 0 =m, A tan 6 + cot 6

o= R 2
1. cos‘*e—sin“e=ﬁa—”~29—,0<e<g
1-tan"@ (a) ,Nm+2+2
1
2. cosecO+cot@= —M
cosec O — cot O (b) 1Nm+4 +2
0(9<%
(e) J,Nm+2+2+2
- 2
3. coszﬁ—sin20=1 L 9,0<8~<E

1+tan® ¢ @ ymed+2+2

39 Tt 4 § s adafie § 2
49. 6-4sin0, 0<p< =~ R 2

e . s 6-4sin6, 0<6< _ 1 Z[fH A ?
(b) hae 23 3 W 1

b)) 2
(c) aﬁHIBﬁI.‘}

(c) 4
d 1,23R3

(d 6

4. TR sino= % 2. @
50. 4 cos? 30° + 2x sin 30° — cot? 30° —

(tan 6 + sec 6)2 (cosec 6 — cot B)_z. 0<B< %
6 tan 15° tan 75° =0

T HE T8 2 .
%! HIE F AT x B AH =18 2
121
(3) T
(a) 1
b 182
9 b) 2
(c) 196
9 (¢ 3
225
() ke d 6

JNBY-D-MTK (16-A)



46. Consider the following :

i 15 cos49—sin49= Lﬂg
1-tan® 0

2. cosecB+cotB= 1

1-tanZ 0

3. cos? 0 —sin?0 = =
1+tan® 0

Which of the above equations are identities ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3
47. If sin6= 1= , then what is the value of
13
(tan9+secﬁ)2(ooset:0—oot8)_2, 0<0B< -;E ?
(a) %1
W 1
@ I
@ =2
JNBY-D-MTK

, 0<

cosec 0 —cot 0’

9«:E
2

0<6< B
2

0<B< i
2

49,

50.

(17-A)

If tan® 0 + cot® 0 = m, then what is the value
of tan® + cot 6 ?

@ Jym+2+2
Jm+d+2
© |Jymr2+z+2
@ fymrd+2+2

(b)

What is the minimum value of 6 —4sin 0,

0<0< X2
2

(a) 1
(b) 2
(c) 4
(d 6

What is the value of x that satisfies
4 cos” 30° + 2x sin 30° — cot2 30° —
6tan 15° tan 75°=0?

(a) 1
(b) 2
() 3
d 6



51.

52,

53.

JNBY-D-MTK

cos? 82° + cos? 58°
secZ 50° — cot? 40°

4 tan 13° tan 37° tan 53° tan 77°
T HH FTR 2
(a)
(b)
(c)
(d)

o W N

(1+ cot? 0) (1 +cos ) (1 —cos 0) -
(1 + tan® ©) (1 + sin 0) (1 — sin 6)
% AE R 2
(a) -1
(b) O
(), 1
d 2

ﬁ2c0529+sin9—2=0,0<85 at e

fud
2 3
1A F1 8 ?

(a)
(b)
(c)

(d)

N3 w3 a3 oA

F@E T & M | @ Afh TH FR
I THEAH Tfd & Her R f AR AW qC
@ar & | i 3rEEA HI BT 30° F 45° B A
6 foe wrd €, 3R swe faftes ora o vEe
4 ¢ fire e 8, @ f=fafea § @ S g
%7

(a) T7<t<8

(b) 8<t<83

(c) 83<t<86

(d 86<t<89

55.

56.

(18-A)

T Higel B F eH W @ 7, S g H
Hag @ h (Hex d) I9 W B | 9% Twdt ? 6
T A o IS T I BT 60° & 3N TR F
TS 1 TN BT 30° B | T B FuE w4

22

(a) 2h
(b) 3h
(¢) 4h
(d) 5h

7 ST ABC 5 cm, 12 em 31 13 em Yaif
a1 T THA Gy 2 | Afe ofid A & el
BC W ©f¥ I 91t &« I @=s p B, a1 13p
1 HH 41 81 2

(a) 24
(b) 48
() 60
(d 90

OABC U #Haqd # fome fFF ofif v qu w
fom & fome &g 0 % | ARk wwegis W
8% 3243 T em ®, A gA I B wn R 2

(a) 4cm
(b) 6cm
(¢) 8cm
(d 16cm



cos? 32° + cos? 58°

51. What is the value of 3
sec? 50° — cot? 40°
4 tan 13° tan 37° tan 53° tan 77° ?
{a) 2
®m 3
(c) 4
(d b5
52. What is the value of
(1+ cot® 6) (1 + cos 0) (1 — cos ) —
(1 +tan®0) (1 + sin 0) (1 —sin 0) ?
(a) -1
(b) O
(c)
fdy " 2
53. If 2cos’0+sinB-2=0, 0<0< g then
what is the value of 6 ?
| o
{a) g
® =
4
) ==
.18
s
2
54. A person on the top of a vertical tower
observes a car moving at a uniform speed
coming directly towards it. If it takes
6 minutes for the angle of depression to
change from 30° to 45° and further
t minutes to reach the tower, which one of the
following is correct ?
(a) TT<t<8
(b) 8<t<83
(¢c) 83<t<86
(d) 86<t<89
JNBY-D-MTK

55.

57.

(19-A)

A woman is standing on the deck of a ship,
which is h (in metres) above water level. She
observes the angle of elevation of the top of a
tower as 60° and the angle of depression of the
base of the tower as 30°. What is the height of
the tower ?

(a) 2h
(b) 8h
() 4h
(d) 5h

Let ABC be a right-angled triangle with sides
5 cm, 12 em and 13 cm. If p is the length of the
perpendicular drawn from vertex A on the
hypotenuse BC, then what is the value of
13p?

(a) 24
(b) 48
(¢c) 60
(d 90

OABC is a rhombus whose three vertices lie

on a circle with centre at O. If the area of the
rhombus is 323 square cm, then what is the

radius of the circle ?

(a) 4cm
(b) 6cm
() 8cm
(d 16cm



58.

59.

60.

JNBY-D-MTK

UH U % JHIT &%el I 25% el fedr e
21 3R p mh T A yfewe w@ad 2, @
Frafefea § @ sRar ad 2 2

(a) 16<p<18

(b) 1l4<p<16
(¢ 12<p<14

(d 10<p<12

TH 3W U9 H CHENH HFGT F & g} o
el S ® | U e wm & g g S w5
3 H ¥ T T F pe qiE dEeet F

T B ?
(a) 2:1
(b) 3:2
() 4:3

. 5:3

TH gy % fawel f F9E 11 em B | 3EE

J1 &5l 240 T cm | 3EhI TS, e

3R =TS FT ITHA F R ?
(a) 16cm
(b) 17 em

(¢ 18em

(d) 19em

61.

62,

(20-A)

@ﬁg«ﬁqﬁgﬂaﬁﬁmﬁ 12 em, 16 cm
3R 20 cm ?, % AW (inscribed circle) &1
SAG (TT) R 2

(a) 48 91 cm

(b) 5097 cm

(¢ 523 cm

(d 549 em

U 3 @G deF b P YU b B
1 9% a5 JH &%a & forR & aue @ |
A 59 d@w H FuE h R I AW H
e ¢ 2, @ Frafofea 3 @ SHa e 8 2

(@ h=r
(b) h=2r
() 2h=3r
(d 3h=4r

@ﬁ%ﬁﬁﬁiwaﬁW%mGOcmaﬂi
23 m 40 cm & | 390 HUH AR I FIHR
TEet e 9§ | wE-A-wn feadt ol
JEYIHAT & ?

(a) 30
(b) 36
(e) 169
(d) 221



58. The surface area of a cube is increased by
25%. If p is the percentage increase in its
length, then which one of the following is
correct ?

(a) 16<p<18
(b) 14<p<16
() 12<p<1l4
(d 10<p<12

59. A solid cube is cut into two cuboids of equal
volume. What is the ratio of total surface area
of the given cube to that of one of the cuboids ?
g 271
(b) 3:2
(c) 4:3
d 5:3

60. The length of a diagonal of a cuboid is 11 em.
The surface area is 240 square cm. What is
the sum of its length, breadth and height ?

(a) 16cm
(b) 17cm
(¢) 18cm
(d) 19cm
JNBY-D-MTK

61.

62.

63.

(21-A)

What is the area of the circle (approximately)
inscribed in a triangle with side lengths

12 em, 16 cm and 20 cm ?

(a)

(b)

(c)

(d)

48 square cm

50 square cm

52 square cm

54 square cm

Two times the total surface area of a solid
right circular cylinder is three times its curved
surface area. If h is the height and r is the
radius of the base of the cylinder, then which

one of the following is correct ?

(a)

(b)

(c)

(d)

h=r

h=2r

2h =3r

3h =4r

A floor of a big hall has dimensions
30 m 60 cm and 23 m 40 em. It is to be paved
with square tiles of same size. What is the

minimum number of tiles required ?

(a) 30
(b) 36
() 169
(d) 221



67.

JNBY-D-MTK

TH ATk Hl 25 2FCW GT%S a1 U GITHR
wa 6 g9 F =98 A 5 km/hr F TS I
= o | frdan a9 @ 2

(a) 36fe
(b) 30T
(© 24fime
@ 18fme

wH i r Brsa a9 o g9 F it i
BThe x & 3R s g9 F ila gwarg By
F HT%d y 2 | Feaffea d @ smmwd 2 0

(a) 9x°=16y>
(b) 27x* = 64y>
(c) 36x°=49y°

d 16x% = 21y?

ﬁwmﬁﬁéee%%maﬁia‘r
3Iaeht wters ferar afewra & 6 wme arfe 3ge
S5 I8 @ ?

(a) 50%

(b) 45%

(c) 40%

d 35%

8 cm 3R 12cmﬂﬁTﬁm@f@m%W
d@ie mm f swfreed get g e
Afpay &% #4918 2

(a) 16n T cem
(b) 18naM em

(¢) 20m 9 cm

(d) 24n T ecm

68. ABCD U aisR #2@ & foad AB=x2 | =4

69.

70.

(22-A)

FUHER AGH & Hg 0 W 2x a8 F1 0F
FEafgt @UT OP @l 2 | a2 £ APO = o, a1
cotﬂmwg?

(@ 2

b) 2

© 22

@ 32

T 3 Wi i g 1 fgemn s 2 ot @

FH R AT ITEN H A 64 B T
HFRR HI 3 g 518 St § | 9 g & g
% w1 Bl DR e F T EEed &
e ¥ YT 1R ?

(a) 025
b 05
¢ 075

d 1

% iy ABC &t ¥R @1 fiysi P, Q, R, S #
ETZTW%'&#WWM 16 cm, 12 cm,
4cmﬁTl2cm'§lP,RBﬂ"{Sﬁ¥ﬁéﬁEW:
A, B 3R ¢ fifea € | Brye ABC &1 wftae =0
??
(a) 18cm
(b) 20cm
(e) 22cm

(d) 24cm
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67.

JNBY-D-MTK

()

How long will a man take to walk around the
boundary of a square field of area 25 hectares
at the rate of 5 km/hr ?

(a)
(b)
()
(d)

36 minutes
30 minutes
24 minutes

18 minutes

Let x be the area of a square inscribed in a
circle of radius r and y be the area of an
equilateral triangle inscribed in the same
circle. Which one of the following is correct ?

(a) 9x°=16y°

27x% = 64y>
36x2 = 49y>
16x2 = 21y”

(c)
(d)

If the length of a rectangle is increased by
66% %, then by what percent should the width
of the rectangle be decreased in order to

maintain the same area ?

(a) 50%
(b) 45%
() 40%
(d) 85%

What is the maximum area that can be
covered by three non-intersecting -circles
drawn inside a rectangle of sides 8 cm and
12cm ?

(a)
(b)
(e)
(d)

16m square cm
18n square cm
20m square cm

247 square cm

68.

69.

70.

(23-A)

ABCD is a square field with AB = x. A
vertical pole OP of height 2x stands at the
centre O of the square field. If £ APO =0,
then what is cot 0 equal to ?

(@ 2
(b) 2

© 242
@ 342

A solid iron ball is melted and 64 smaller solid
balls of equal size are made using the entire
volume of iron. What is the ratio of the surface
area of the larger ball to the sum of the
surface areas of all the smaller balls ?

(a) 025

(b) 05

() 075

d 1

A triangle ABC has been divided into four
smaller triangles P, Q, R, S whose perimeters
are 16 cm, 12 cm, 4 cm and 12 cm respectively.
P, R and S contain the vertices A, B and C
respectively. What is the perimeter of the
triangle ABC ?

(a) 18cm
(b) 20cm
() 22cm
(d 24cm



3777 3T FIT T (10) FFHN % [o70

71.

JNBY-D-MTK

e YN § Uk 9 8 e 9g 9 e # |
frafafea fdat &1 s = 9% gy #5
Waﬁﬁz

(a) I8 fawew s Hifvw afe gw 1 sw
Fae Th HUF § eI o gwar g «fe
TE U | & fon s wean |

b) 8 fawey w=m Hifse 3 g9 *1 =
ferelt oft wp w4 e o1 ThaT 2 |

(¢ ¥8 foweq =mm Hifse afs w1 #1 I
ST HUAT I IYFNT | TR eI S Fehan
2, AR Fadt TF HIF B I H AT
IR AT fen 5 TR |

@ ¥ fawes vz Hifve afe a4 FuAi -+
U G I § A oft 999 1 I T
fea = |an |

T HEAT 277XY5 (&l X, Y 3% 7) 25§ WA

il

75.
7 : XHIHA TR ?
FYT]: VTR EEE9H AT |
FITI: X>5.
(24-A)

72,

73.

74.

a, b a1 ¢ ¥ gy o= =0 & 3k
THIHT ax” + bx + ¢ = 0 %1 Th el 2
22

3T

FYTI: cda YA 12 |

FYTI: bW aw JIE (-5/2) 8 |

N3 Wm>n,ﬁﬁm,n3ﬁ'ﬂl'&i@ﬁ%?

El—:-l.

n

FHITI:

FI7II: m>2n.

¥¥7 :  # A, B3R C fagHi & Toar gan o

g @ia1 31 ghal 8 ?
HYTI : AB=5cm, BC=5cm,
CA =6 cm.
YT II : AB=3cm, BC=4cm,
CA="Tecm.
x 3 y seumTa foawm qoriss & |
97 ;. H (x + y) B 9E AfgdE w9 A
fuifta foran < wepan 8 2
FYTI : (x +y)* = 256.
FYI : (x+y)3 <186



For the next ten (10) items that follow :

Each contains a Question
followed by two Statements. Answer

the

item

each item using following

instructions :

(a) Choose this option if the Question can be
answered by one of the Statements alone

but not by the other.

(b)  Choose this option if the Question can be

answered by either Statement alone.

(¢) Choose this option if the Question can be
answered by using both the Statements
together, but cannot be answered by

using either Statement alone.

(d) Choose this option if the Question
cannot be answered even by using both

Statements together.

71. A number 277XY5 (where X, Y are digits) is
divisible by 25.
Question :  What is the value of X ?
Statement I : The given number is
divisible by 9.
Statement II : X > 5.
JNBY-D-MTK

72,

73.

74.

75.

(25-A)

What are the unique values of a,
b and c¢ if 2 is a root of the

equation ax’+bx+c=07?

Question :

Statement I : Ratioof cto a is 1.
Statement 11 : Ratio of b to a is (— 5/2).
Question : Is m > n, where m, n are non-zero
numbers ?
Statement I : 2 a1,
n
Statement II: m > 2n.

Question : Can a circle be drawn through the
points A, Band C ?
Statement I : AB=5cm, BC=5cm,

CA=6cm.

StatementII: AB=3cm, BC=4cm,

CA=7cm.

x and y are consecutive odd integers.

Question: Can the value of (x+y) be

determined uniquely ?
(x +y)* = 256.

Statement I :

Statement I :  (x + y}3 < 16.



76. ¥¥7 : Wp2+q2+qﬁ“"%’i‘3‘f1"q7a Bgs A @ ot yoneit i dEEAl 25 em 3R
TS qUITeh & 2 '
24cem? |
FYTI: 2p+qfaem | o7 ;. Had B YA T S 1R 2
FYTI: q-2pfaem g | FYTI: ASHU1:2:3% FUEH B |
FYTI: THE I & A h G a9 g W
g™ T &9 i FE1E 672 em B |
77. ¥¥7 : I CH &A% FR ?

FYTI: T em AR HI Th 99 C % g W
30° T IV Hdd L 2 |

FYTI: 10 cm T3 I TH a1 C % g W
90° T HIT HaARd Hdl B |

78. ¥¥7 : w0 Pigw A wwenfim 2 2

80. 3O C H TF A1 PQ 3 q Wl H W YA
famfoa #cft @ & defges & dawar 1 3 T
AIEE & GRS b 4 TAT o S 2 |

7. CcHG=nmwnge

PHITI :

AYEE HT FIFA 66 T cm B |

HIYTII :

e %1 STBT 88 em B |

FYTI: A H QA YA & wea-fagai @
e I T@ @ H TEE, A
el e i g i e R
FYTH: AFHU1:2:3% I H & |
JNBY-D-MTK

(26 -

A)



76. Question: Is p2 + q2 + q odd, where p, q are
positive integers ?
Statement I : 2p + q is odd.
Statement II :  q - 2p is odd.
77. GQuestion: What is the area of the circle C ?
Statement I : An arc of length 7 cm
subtends an angle 30° at the
centre of C.
Statement I : A chord of length 10 c¢m
subtends an angle 90° at the
centre of C.
78. Question : Is triangle A right angled ?
Statement I : The length of the line
segment joining the
mid-points of two sides of A
is half of the third side
of A.
Statement II :  The angles of A are in the
ratiol:2: 3.
JNBY-D-MTK

(27-A)

79.

The lengths of two longer sides of the triangle
A are 25 cm and 24 cm.

Question: What is the length of the

shortest side ?

Statement I : The angles of A are in the

ratiol:2: 3.

Statement I :  The the

length of
perpendicular drawn on the
longest side of A from its

opposite vertex is 6-72 cm.

A chord PQ of the circle C divides it into two
segments such that 3 times the area of the

major segment is 4 times the area of the minor

segment.

Question :  What is the radius of C ?

Statement I : Area of the minor segment is
66 square cm.

Statement I :  Area of the major segment is

88 square cm.



T 3 a2 (02) ¥ & fore Rty der w84, ARG M wifeEe R, A M W W w1 R ?
farem #ifae -

(a) 53%
Fe 0-30 | 30-60] 60-90 | 90-120
aRERdl | 4 5 7 4 (b) 60
81. WA T TEAH T 8 ? et
ol iy d 180
M) 172
e 85. UH WHM & ¥ H1 STBS 200 I Hi B |
W qg ATd $ HR F & 3N HH T R

e 2: 1% 9E # } | HHE TS B9

g2. 3f wieww (p) M wEEH (Q waw FWIARY 1 m G a1 & | B9 & &% § 1y

7(Q - P) = 9R 1 L W &, A R HH F1 ¥ wme fra sfera A agrad gt 2
& (a) 40%
it (b) 32%
Sy () 20%
(e 3
@ 155%
) 1

7 ST FTF F1(02) T F [oq [AEICIET 82T R | g 44 om T YT AR TH THR e B IR

R #IrG : T Y % WIYHY A B T THR TH Ao
e 40-50 | 50— 60 | 60170 | 70— 80 R @ 6 sud Rula R ohgm
FRERAT 4 3 1 2 H HE WY A B | Ao B AFAT TR 2

(n= 2 )

83. €I I WIS T ?
(a) 6776 ¥4 cm

(a) 51
(c) 54 (¢) 589699 cm
(d) 56 (d) 568099 cm

JNBY-D-MTK (28-A)



Consider the following data for the next
two (02) items that follow :
Class 0-30 | 30-60 | 60—-90 | 90 — 120
Frequency 4 5 7 4
81. What is the mode of the distribution ?

(a) 60
(b) 72
te) 75
(d 80

If the median (P) and mode (Q) satisfy the
relation 7(Q — P) = 9R, then what is the value
of R?

(a) 6
(b) b
e 3
d 1
Consider the following data for the next
two (02) items that follow :
Class 40-50 | 50-60 | 60—70 | 70 - 80
Frequency 4 3 1 2
83. What is the mean of the distribution ?
(a) 51
(b) 52
() 54
(d) 56
JNBY-D-MTK

B4I

85.

(29-A)

If M is the median, then what is the value of
3M ?

(a) 53%
(b) 60
() 160
(d 180

The plinth of a house has an area of
200 square metres. It is rectangular in shape
and its length and breadth are in the ratio
2:1. The owner of the house extends the
terrace by 1 m on each side. What is the
percentage of area that has increased in the

terrace relative to the plinth ?
(a) 40%

(b) 32%

(e) 20%

(d) 155%

A square sheet of side length 44 e¢m is rolled
along one of its sides to form a cylinder by
making opposite edges just to touch each
other. What is the volume of the cylinder ?

(Take &t = %)

(a) 6776 cubic cm
(b) 6248 cubic cm
(c) 5896 cubic cm
(d) 5680 cubic cm



87. U TN T A 3600 U cm B | Q1 WA | 3y 3 a1 AT (03) ¥ F forw FAEfiEa w
Ferhi % HABA 225 A cm 3N 144 T em B || ey A -

I ATHA Ferh H BTG T 8 ?
8 i ABC #, AB=6cm, BC=8cm 3R

(a) 400 cm AC=10cm ¥ | B @ia1 T @@ ¥91 ACH DW
(b) 360 em fi@rar & | BD s (B g % @1¥) % Th 99 AB
(€ 320 em 3ft BC #1 FAW: P 3R Q W Hedr @ S@1 g |
(d 3003 em e w2
A

88. UH gy By & ufem it &awa waw:
36 cm 3 54 1 cm & | o1 6t FaTE TR 2 N
(a) 12cm
(b) l14em
(C) 15 em B Q C
(d) 16cm

89. WM wifvT

X={(x|x=2+4k T& k=0,1,2,3,... 24}
2 | 77 AT 8, X 1 30 THR F ITET=T @
f5 5% fdl off 2 sl o1 et 100 7 (91, QCH TEE MR 7
2 | s ¥ sfowman gwifem s@mal i @@

(a) 44cm
fopartt 2 2

(b) 42em
(a) 10
(b) 11 (¢) 36cm
(dy 13

92. ABD =0, dl sin 6 forae .
90. 52 cm 5T T 99 F & BreuEe 1 9fmm e B yoikl

16-4 cm & | @S &1 S%e @91 B 2 (a) 04
(a) 1563 cm ®) 05
(b) 159 cm

(¢) 14-4Fcem e
(d 141 em @ o8
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87.

JNBY-D-MTK

The volume of a cuboid is 3600 cubic cm.
The areas of two adjacent faces are
225 square cm and 144 square cm. What is the
area of the other adjacent face ?

(a) 400 square cm
(b) 360 square cm
(¢) 320 square cm

(d) 300 square cm

The perimeter and the area of a right-angled
triangle are 36 em and 54 square cm
respectively. What is the length of the
hypotenuse ?

(a) 12cm
(b) 14em
(¢) 15cm
(d) 16em
Let

X={x | x=2+4k, wherek=0, 1, 2, 3,...24).
Let S be a subset of X such that the sum of no
two elements of S is 100. What is the
maximum possible number of elements in S ?

(a) 10

(b) 11
(e) 12
(dy. 13

The perimeter of a sector of a circle of radius
52 cm is 164 cm. What is the area of the
sector ?

(a) 15-6 square cm
(b) 15 square cm
(¢) 14-4 square cm

(d) 14-1 square cm

Consider the following for the next three (03) items
that follow :

In the triangle ABC, AB = 6 cm, BC = 8 em and
AC = 10 cm. The perpendicular dropped from B
meets the side AC at D. A circle of radius BD (with
centre B) cuts AB and BC at P and Q respectively
as shown in the figure.

A

91. What is the length of QC ?

(a) 44cm
(b) 42cm
(¢) 36cm
(d 32cm

92. If ZABD =0, then what is sin 6 equal to ?

(a) 04
(b) 05
() 06
(d 08
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93. A A B w2 95. B T HI &I FIT 8 ?

(a) 5cm (a) 50(3-+2)a em

(b) 4-8cm (b) 25(3-22)% em
(¢c) 44cm (¢ 253+2V2)dMem
d 4cm d 50(3-22)F em

37 377 FIT @A (03) T F fow el W
faar #ifo : 96. 3TTeBIfed &7 HT HABA T8 ?

#= fqu mu s@ ¥, T o7 PQRS % @i TH I (a) (96— 25m) T em
2 | PHMH W UH A9 59 719 4 cm x 2 em B 3R

RPN W a1 Efen T 2 |
S R (¢) (96 - 16m) 1 cm

(b) (92 - 25m) 1 em

(d (92 - 16m) 1 cm

377 3 J1e7 31 (02) ¥ & forw Amfeiiea w e

Fifore :
= omw #, r B % % g9 & Fwia & AEa
) ABCD 2 | £ DAE = 30° 3 2 ACD = 30° fean
1

P TR

94. U H GARA TR ?

(a) 100m a1 em

(b) 96n T cm

(¢) 50n e cm

(d) 48191 em
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93. What is the radius of the circle ? 95. What is the area of the smaller square ?

(a) 5em (a) 50(3- v/2)square cm

(b) 4-8cm (b) 25(3-2+2)square cm
(c) 44cm (¢) 25(3+2+2)square cm
(d 4cm (d) 50 (3-2+2)square em

Consider the following for the next-thres (03) ilems 96. What is the area of the shaded region ?

that follow :
(a) (96 — 25m) square cm
In the figure given below, a circle is inscribed in a

(b) (92 - 25m) square cm
square PQRS. A rectangle at the corner P that

measures 4 cm x 2 cm and a square at the corner R (c) (96 - 16m) square cm
are drawn.
S R
(d) (92 - 16n) square cm
Consider the following for the next two (02) items
that follow :
In the following figure, a rectangle ABCD is
inscribed in a circle of radius r. Given
ZDAE = 30° and £ ACD = 30°.
2
P
94, What is the area of the circle ? E
D C
30°
(a) 100m square cm
09
(b) 96m square cm
A B

(¢) 50msquare cm

(d) 48msquare cm
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97. I6 H SFGA I AW & TGS F U T 377 1 71 (02) ¥ F forg FrEfiEa | AER
22 T
= om@ #, 0 ¥ I T I F AFaNd
: fygs ABC 2 | WA @it s POA=x X
(a) 7 Z0QB=y°? | 36% @& OB=BQ? |
i wE
(b) 5
2n
(c) E
3n
d —
(d) 5
C
99. xﬁ?y%ﬁﬁwm%?
@ x=y
98. A AEC 1 &% #I1 8 ? (b) 2x=3y
g (e} x=3y
(2} | ==
V3 (d) 3x=4y
2
Wt 2
(b) =B 100. a2 y = 15,91 ~ ACB forgeh st B 2
[ (a) 30°
"R (b) 40°
or2 (c) 45°
) =
d 60°
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97. What is the ratio of the area of the circle to the | Consider the following for the next two (02) items
area of the rectangle ? that follow :
= In the following figure, a triangle ABC is
) —=
J2 inscribed in a circle with centre at O.
Let £ POA = x° and £ OQB = y°. Further,
OB = BQ.
m —=
V3
2n
@ —=
J3
3n
d —
J2
C
99. What is the relation between x and y ?
(a) x=y
: ?
98. What is the area of A AEC ? ) Sx=Sy
r2 (e) x=3y
(a) —
NE)
(d) 3x=4y
2
b)) — 100. Ify =15, then what is £ ACB equal to ?
2J3 y q
(a) 30°
£ (b) 40
() —f z
3J3
(c) 45°
2
@ = @ 60°
NE)
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